EMCF36 — Math 1432, 13209

The answer sheet for this assignment can be found by logging into CourseWare at
http://www.casa.uh.edu, selecting Math 1432(13209), clicking on the EMCF tab at the
top of the page, and selecting EMCF36.
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1. Give the Taylor polynomial of degree 4 centered at O for f (x) = Xxe".

L
a. p,(x)=x > X

24 x4+ x

s, 14

(
c. pu(x)=x+x
( +3X

1
d. X)= x> —=X
p,(x) >

1 1
e. X)=X+x*+=x>+=x*
p4( ) 2 5

f. None of these.
2. Give the Taylor polynomial of degree 4 centered at 0 for f(x)=xcos(x).

L
a. p,(x)=x > X

24 x4+ x*

s, 14

(
c. p,(X)=x+x
( +3X

1
d. X)= x> —=X
p,(x) >

1 1
e. X)=X+x*+=x>+=x*
p4( ) 2 5

—h

None of these.



3. Give the Taylor polynomial of degree 4 centered at 0 for f(x)= xsin(x).
a. p,(x)= x—%x3

X)=Xx? B

pa(
c. p(X)=x+x*+x>+x*
(

1 1
d. X)=x>—=x3+=x*
p,(x)= K43

1 1
e. X)=x+x*+=x>+=x*
p.(x) X Tg

f. None of these.
4. Give the Taylor polynomial of degree 4 centered at 0 for f(x)= xIn(1+x).

_y_ L.
a. p,(x)=x 2x

X)= Xx? B

p.(
c. p(X)=x+x*+x>+x*
(

1 1
d. X)=x>—=x3+=x*
p,(x)= X 43
1 1
e. X)=x+x*+=x*+=x*
p.(x) X Tg

f. None of these.

5. Give the Taylor polynomial of degree 4 centered at O for f(x) = % :
—X
a. p,(x)= x—%x3

15 1.,

1 1
e. X)=X+x2+=x>+=x*
p,(x) X s

=h

None of these.



6. Use the table of values below to give the Taylor polynomial of degree 3 centered at 0
for f(x).

f ) (0) -1 1 1 1

a. —1+x+2x°+x3

b —l4ix+ix+lx
2 3 6

C. —1+x+x2+%x3
d. —1+x+lx2+1x3
2 6

e. —1+x+2x° +%x3

f. None of these.
7. Use the table of values below to give the Taylor polynomial of degree 3 centered at 0

for f(x).

£ (0) 1 0 4 4

1+2x+4x? +8x° +16x*

b, 1-2x° +Ex4
3

i

C. 2x—ix3
3

d. 1+2x+2x° +ﬂx3’+gx4
3 3

e. x—2x>+x*-2x*
f. None of these.

8 i (lelk

k=2

a. Converges Absolutely
b. Converges Conditionally
c. Diverges



P

a. Converges Absolutely
b. Converges Conditionally

c. Diverges
10. 2—§|n(k)
— k°+1
a. Converges Absolutely
b. Converges Conditionally
c. Diverges
(Y
11. —
;kx/k-i-l

a. Converges Absolutely
b. Converges Conditionally
c. Diverges

2y LY
&k (In(k))
a. Converges Absolutely

b. Converges Conditionally
c. Diverges

NGNS
13. ) %
k=2
a. Converges Absolutely
b. Converges Conditionally

c. Diverges

& (1) k!
4.y =
k=2
a. Converges Absolutely
b. Converges Conditionally

C. Diverges

arctan( )
X2 +1

15.

o1

The integral I dx

Is not an improper integral.

Is an improper integral because of the behavior of the integrand at 0.

Is an improper integral because of the behavior of the integrand at 1.

Is an improper integrand because there is an infinite limit of integration.
Is an improper integral for a reason other than b, ¢ or d.

None of these.

Q0o



16. The integral jmdx

Is not an improper integral.

Is an improper integral because of the behavior of the integrand at 1.

Is an improper integral because of the behavior of the integrand at 2.

Is an improper integrand because there is an infinite limit of integration.
Is an improper integral for a reason other than b, ¢ or d.

None of these.

~® o0 oW

arctan( )

17. The integral j dx

Is not an improper integral.
Is an improper integral because of the behavior of the integrand at 0.
Is an improper integral because of the behavior of the integrand at 2.
Is an improper integrand because there is an infinite limit of integration.
Is an improper integral for a reason other than b, c or d.
None of these.
- v (1
18. Give the value of Z T

k=2

S 00T

1/20

1/10

3/20

3/10

1/4

None of these.

19, 1im X" S|n(3x)

0 X +sin(5x)

a. -3/5

b. 3/5
c. -2/3
d. 2/3
e
f.
3

mP o0 T

-1/3
None of these.

x/3 (3+X)_

1/3
1/6
2/3
5/6
1/2
None of these.
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